Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL E THOROUGHLY CONSIDERED AND EVALUATED.	meets the bid specification	ALL SHIP LOTS ARE IN CASES.												
1015	SERVINGS	Croissant, Chicken, Turkey Pepperoni and Cheese, Croissant Sandwich, Whole Grain, IW-Whole grain, Individually wrapped Chicken, Turkey Pepperoni and Cheese Sandwich on a whole grain croissant. Wrapped in an own safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate.  Ship Lot: 300 cases	Tasty Brands 70060	250,000								\$0.00	#DIV/0!	#DIV/01	How many cases are on a pallet?		
1015	SERVINGS	Croissant, Chicken, Turkey Pepperoni and Choese, Croissant Sandwich, Whole Grain, Mr. Whote Grain, Mr. Whote Grain, Mr. Whote Grain, Ind. Grain Grain Croissant. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. Chi label or product formulation sheet (IPFS) required. Approximate pack, 72/case. If packed differently, please indicate.  Ship Lot: 300 cases	Tasty Brands 70060	250,000	Tasty Brands	net 20	Tasty Brands	70060	72/4.85	72	\$1.17	\$84.26	3,472	\$292,567.50	6 pallet minimum ship	2 weeks	AWARD
1021	SERVINGS	Sandwich, Turkey and Two Cheese, Whole Grain, M- Whole grain, individually wrapped Turkey Breast with Mozzarella and Amercian Cheese Sandwich on two whole grain Pullman bread slices. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate.  Ship Lot: 300 cases	Tasty Brands 70019	250,000								\$0.00	#DIV/01	#DIV/0!			
1021	SERVINGS	Grain, M- Whole grain, individually wrapped Turkey Breast with Mozzarella and Amercian Cheese Sandwich on two whole grain Pullman bread slices. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meet/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 300 cases	Tasty Brands 70019	250,000	Tasty Brands	net 20	Tasty Brands	70019	72/4.40	72	\$1.06	\$76.23	3,472	\$264,675.00	6 pallet minimum ship	2 weels	AWARD
1028	SERVINGS	Ham, Black Forest, Sifeed - Sifeed nitrate/nitrie free ham. Ninty seen percent fair free product. Fluff packed. Each serving to equal a minimum of 1.5 cz. cm/ma of the Chlet Nutrition Porgram. Must provide crediting statement. Please indicate pack size. Ship Lot: 400	Gourmet Café 31006	200,000								\$0.00	#DIV/0!	#DIV/0!			
1028	SERVINGS	Ham, Black Forest, Sliced - Sliced nitrate/nitrite free ham. Ninty seven percent fat free product. Fluff packed. Each serving to equal a minimum of 1.25 cz. m/ma for the Child Nutrition Porgram. Must provide crediting statement. Please indicate pack size. Ship Lot: 400	Gourmet Café 31006	200,000	Tasty Brands	net 20	Tasty Brands/Gourmet Café	31006	160/1.80	160	\$0.48	\$77.04	1,250	\$96,300.00	6 pallet minimum ship	2 weels	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product	Pack Size	Estimated Servings/Pounds	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
										Per Case							
Column 1	Column 2	Column 3  Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REPLECT CUREBUT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	equal (1) as long as it meets the bid specification	Column 6  ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1038	SERVINGS	Beef Turnover, Jamaican - IGF, turnover filled with 100% seasoned ground beef (no soy additives). Crust made with whole grain flour. Serving to equial a minimum of 2 cz. m/ma and 2 cz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 50/case.  Ship Lot: 300		250,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1041	SERVINGS	broccoi florettes, cauliflower florettes and crinkle carrot slices. Packed to Grade A standard. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Pack 12/2 lb bags. Approximately 125 servings per case. If packed differently please indicate.  Ship Lot: 400	Simplot 10071179188339	400,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1047	SERVINGS	Empanada, Breakfast - IOF, breakfast empanada pie to contain seasoned chorizo, egg and jaispeno stuffed in a pie crust pastry. Serving size to equal a minimum of 1 cz. m/ma and 1 cz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 48/case.  Ship Lot: 400	Natchitoches Meat Pie Co. 70339	200,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1048	SERVINGS	Meat Pie, Lousiana Mini- IQF, Original, mini Cajun seasoned beef and pork filled meat pie in a pie crust pastry. Serving size to equal a minimum of 2 oz. m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 96/case.  Ship Lot: 400	30389	250,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1061	SERVINGS	more than 25%added juice solution. Serving size to equal approximately 3 oz. Must provide crediting statement. Packed 2/16 lb roasts per case. Ship Lot: 300	90704051770280	200,000								\$0.00	#DIV/0!	#DIV/0!			
1061	SERVINGS	more than 25%added juice solution. Serving size to equal approximately 3 oz. Must provide crediting statement. Packed 2/16 lb roasts per case. Ship Lot: 300	90704051770280	200,000	Tyson	Payment Terms Net 30 Days	Hillshire Farm	10000004319	32 / 5 oz.	32	\$1.98	\$63.50	6,250	\$396,880.00	Please Note: The Total listed in Column K is the Estimated Servings per Case	2 Weeks	AWARD (Sample received by due date and was approved)
1061	SERVINGS	Pot Roast, Beef - Frozen, fully cooked, smoked, and the all beef bottom round pot roast. To contain no more than 25%added juice solution. Serving size to equal approximately 3 oz. Wust provide crediting statement. Packed 2/16 lb roasts per case.  Ship Lot: 300	Smithfield Culinary 90704051770280	200,000	SYSCO MEMPHIS, LLC	NET 14DAYS	TYSON-HILLSHIRE	4319	10#-32/3.2OZ	32	\$2.20	\$70.40	6,250	\$440,000.00		4Weeks	

Stock			Approved Brand	Estimated Number of				Manufacturer's Product	Pack	Estimated	Cost Per		Required Number			LEAD TIME FROM ORDER	
Number	Unit	Description	(Manufacturer Product Code)	Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Code	Size	Servings/Pounds Per Case	Serving/Pounds	Cost Per Case	of Cases	Extended Total Cost	Comments	(IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WITE THOROUGHLY CONSIDERED AND EVALUATED.	equal (1) as long as it meets the bid specification	ALL SHIP LOTS ARE IN CASES.												
1062	SERVINGS	Ribs, BBQ - Smoked BBQ St. Louis styled ribs.  No sauce added, dry rub. Each serving must equal a minimum of 2 oz. of meat/meat alternate.  Packed in whole slabs, 8/1.6 lbs. cryovac bags per case. Must provide crediting statement.  Approximately 48 servings per case.  Ship Lot: 200	Brookwood Farms 17505	100,000								\$0.00	#DIV/0!	#DIV/0!			
1062	SERVINGS	Ribs, BBQ - Smoked BBQ St. Louis styled ribs. No sauce added, dry nub. Each serving must equal a minimum of 2 oz. of meat/meat atlemate. Packed in whole slabs, 8/1.6 lbs. cryovac bags per case. Must provide crediting statement. Approximately 48 servings per case. Ship Lot: 200	Brookwood Farms 17505	100,000	SYSCO MEMPHIS, LLC	NET 14DAYS	BROOKWOOD FARMS	17505	1/14#	48	\$2.32	\$111.36	2,083	\$232,000.00	48serv per case	5weeks	AWARD
1071	SERVINGS	Chicken, Shredded - Unseasoned, low sodium frozen pulled chicken pieces. A blend of 65/35 dark to white blend. All natural with no antibiotics. Serving to equal 2 oz. m/ma for the CN program. CN Labeled or product formulation sheet required for crediting.  Ship Lot: 300	Tyson 046021-0928	300,000								\$0.00	#DIV/0!	#DIV/0!			
1071	SERVINGS	Chicken, Shredded - Unseasoned, low sodium frozen pulled chicken pieces. A blend of 65/35 dark to white blend. All natural with no antibiotics. Serving to equal 2 oz. m/ma for the CN program. CN Labeled or product formulation sheet required for crediting.  Ship Lot: 300		300,000	Tyson	Payment Terms Net 30 Days	Tyson	10460210928	73 / 2.2 oz.	73	\$0.50	\$36.32	4,110	\$149,250.00	Please Note: The Total listed in Column K is the Estimated Servings per Case	2 Weeks	NO AWARD (Needs to be Sous Vi Packed)
1071	SERVINGS	Chicken, Shredded - Unseasoned, low sodium frazen pulled chicken pieces. A blend of 65/35 dark to white blend. All natural with no antibiotics. Serving to equal 2 oz. m/ma for the CN program. CN Labeled or product formulation sheet required for crediting.  Ship Lot: 300		300,000	Gold Creek Foods	Net 30 days	Gold Creek	791499	8/4# bags	170	\$0.74	\$125.38	1,765	\$221,250.00	9400# minimum shipment	21 days	NO AWARD (Needs to be Sous Vi Packed) Sample not approved at 75%
1071	SERVINGS	Chicken, Shredded - Unseasoned, low sodium frozen pulled chicken pieces. A blend of 66/35 dark to white blend. All natural with no antibiotics. Serving to equal 2 oz. m/ma for the CN program. CN Labeled or product formulation sheet required for crediting.  Ship Lot: 300	Tyson 046021-0928	300,000	CHURCHFIELD TRADING	NET 30	COMIDA VIDA	470490	5/7.40 lbs bag	293	\$0.65	\$189.28	1,024	\$193,800.00	SAMPLE SENT	2 WEEKS	NO AWARD
1071	SERVINGS	Chicken, Shredded - Unseasoned, low sodium frozen pulled chicken pieces. A blend of 65/35 dark to white bend. All natural with no antibiotics. Serving to equal 2 oz. m/ma for the CN program. CN Labeled or product formulation sheet required for crediting.  Ship Lot: 300	Tyson 046021-0928	300,000	SYSCO MEMPHIS, LLC	NET 14DAYS	TYSON	046021-0928	53/2.2oz	53	\$0.76	\$40.28	5,660	\$228,000.00		4 WEEKS	NO AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Considered A Non Acceptable Vendor Response.	SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	meets the bid specification	Column 6  ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1094	SERVINGS	Mozzarella Jalapeno Bites - ICF, Frozen min mozzarella cheese and jalapeno filled bitles mozzarela cheese and jalapeno filled bitles wrapped in a whole grain pastry. Bulk packed. Serving size to equal 2 m/ma and 2 cc. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size 240 - 1 oz. servings per case.  Ship Lot: 400		200,000								\$0.00	#DIV/0!	#DIV/01			
1094	SERVINGS	Mozzarella Jalapeno Bites - ICF, Frozen mini mozzarella cheese and plalpeno filled bites, wrapped in a whole grain pastly. Bulk packed. Serving size to equal 2 m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size 240 - 1 oz. servings per case.  Ship Lot: 400		200,000	S.A. Piazza & Assoc. INC	Net 14	Wild Mike's	11008	120/2.12oz	120	\$0.56	\$67.20	1,667	\$112,000.00			AWARD
1493	SERVINGS	Sitr Fry Vegetable Blend - Frozen, IOF should contain broccoli florets, kernel com, diced red peppers, shelled edamame and matchstick carrots. Must provide crediting statement. Approximate Packed 6/2.5 lb. pkgs./case.  Ship Lot: 300	Simplot 10071179607762	105,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1570	SERVINGS	Bun, Hamburger Brioche - Sliced brioche hamburger bun. Bun be provide a minimum of 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Packed approximately 96 buns per case. Ship Lot: 400	Bakecrafters	200,000								\$0.00	#DIV/0!	#DIV/0!			
1570	SERVINGS	hamburger bun. Bun b provide a minimum of 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Packed approximately 96 buns per case. Ship Lot: 400	Bakecrafters	200,000	Tasty Brands	net 20	Tasty Brands/Anytime Bakery	20204	120/2.10 oz	120	\$0.27	\$32.28	1,667	\$53,800.00	6 pallet minimum ship	2 weeks	AWARD (Sample received by due date and was approved)
1577		Buns, White Whole Grain Hot Dog, Plain, Sliced, Frozen Frozen Bun to made from at least 50% white whole wheat. White whole wheat flour or water must be the first ingredient listed on label, Minimum vt. of 2 oz. Bun must be a minimum of 5-6" in length and provide 2 oz. grain equivalent for the child nutrition program. Trans fat fire. Must provide ingredient statement that indicates the creditable equivalents, grams/percentage of white whole wheat flour. Please specify package size and package quantity. Into bidding an approved brand, vendor must submit samples and current nutrition information prior to bid opening.  Ship Lot: 800	Bakecrafters 471	700,000								\$0.00	#DIV/0!	#DIV/01			

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it	ALL SHIP LOTS ARE IN CASES.												
1577	SERVINGS	Burs, White Whole Grain Hot Dog, Plain, Sliced, Frozen Fun to made from at least 50% white whole wheat. White whole wheat flour or water must be the first ingredient listed on label. Minimum vt. of 2 cz. Bun must be a minimum of 5-6" in length and provide 2 cz. grain equivalent for the child nutrition program. Trans faft fee. Must provide ingredient statement that indicates the creditable equivalents, grams/percentage of white whole wheat flour. Please specify package size and package quantity. If not bidding an approved brand, vendor must submit samples and current nutrition information prior to bid opening.  Ship Lot: 800	Bakecrafters 471	700,000	Super Bakery	Net 30	Ultra	7675	2.0 oz.	144	\$0.23	\$33.45	4,861	\$162,610.00	200 cs. Mixed product minimum for delivery	10 working days	Did Not Pass Sample Testing (Sample not approved at 75%) Results revealed that product was hard and bland tasting.
1577	SERVINGS	Burs, White Whole Grain Hot Dog, Plain, Sicold, Frozer Frozer Bru to made from at least 59% white whole wheat. White whole wheat flour or water must be the first ingredient isteet on label, Minimum wt. of 2 cz. Blur must be a minimum of 5-6" in length and provide 2 cz. grain equivalent for the child nutrition program. Trans fat free. Must provide ingredient statement that indicates the providial equivalents grams/percentage of white whole when flower in Pleases specify proleage size and package quantity. If not bidding an approved brand, verdor must submit samples and current nutrition information prior to bid opening.  Ship Lot: 800	Bakecrafters 471	700,000	Bake Crafters	Net 14 days	Bake Crafters	471	2 oz	144	\$0.24	\$33.94	4,861	\$164,990.00			AWARD Approved Brand
1592	SERVINGS	Individually wrapped. Each loaf must be 50% whole grain and provide 2 grain servings for the child nutrition program. Must have CN label or crediting statement. Approximate pack size: 72 Ship Lot: 200	Smart Choice 52675 Tony Roberts 34471 East Baking Company 8010	350,000								\$0.00	#DIV/0!	#DIV/0!			
1592	SERVINGS	Individually wrapped. Each loaf must be 50% whole grain and provide 2 grain servings for the child nutrition program. Must have CN label or crediting statement. Approximate pack size: 72  Ship Lot: 200	Smart Choice 52675 Tony Roberts 34471 East Baking Company 8010	350,000	Epailet, Inc.	2% 10 Net 30	Smart Choice	52675	2 oz.	72	\$0.47	\$33.84	4,861	\$164,500.00	Order min. is 3 pallets (390 cases total) for this item. Must order full pallets.	6	No Longer Needed. Already Awarded as a RENEWAL
1592	SERVINGS	Individually wrapped. Each loaf must be 50% whole grain and provide 2 grain servings for the child nutrition program. Must have CN label or crediting statement. Approximate pack size: 72 Ship Lot: 200	Smart Choice 52675 Tony Roberts 34471 East Baking Company 8010	350,000	JSB Muffin Town	Net 21 days	Smart Choice	52675	3.6 oz. IW	48	\$0.46	\$21.84	7,292	\$159,250.00	Order min. is 3 pallets (390 cases total) for this item. Must order full pallets.	6	RENEWED ALREADY
1592		Individually wrapped. Each loaf must be 50%	Sky Blue Foods BBLA372 Smart Choice 52875 Tony Roberts 34471 East Baking Company 8010	350,000	Bake Crafters	Net 14 days	Bake crafters	437	3.6 oz	48	\$0.70	\$33.50	7,292	\$244,300.00			No Longer Needed, Already Awarded as a RENEWAL

Column 1 Colu	olumn 2	Column 3		(2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
		Bid Submissions That Deviate From What Is Being	Column 4  PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	equal (1) as long as it meets the bid specification	Column 6  ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1664 SER\	:RVINGS	Grab and Go, Deli Meal, Turkey Pepperoni Moal - To contain turkey Pepperoni, mozzareli heese, maniara sauce and whole grain flat bread counds. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 ca Grain Equivalents for the Child Nutrition Program. Approximate pack: 48 - 5.43 oz servings per case. Ship Lot: 500 cases	Tasty Brands 10102	400,000								\$0.00	#DIV/0!	#DIV/0!			
1664 SER\	:RVINGS	Moal - To contain turkey Peoperoni, mozzarella cheese, marinara sauce and whole grain flat bread cunds. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 oz Grain Equivalents for the Child Nutrition Program. Approximate pack. 48 - 5.43 oz servings per case. Ship Lot: 500 cases	Tasty Brands 10102	400,000	Tasty Brands	net 20	Tasty Brands	10102	48/5.58	48	\$1.61	\$77.30	8,333	\$644,160.00	6 pallet minimum ship	2 weels	AWARD
1694 SER\	RVINGS	Tortilla, Chicken & Chili Filled, Fully Cooked -rozen - CN label required. Each serving to -rovide 1 oz. mea/meat alternative and 1 oz grain eguivalent. Approximate Pack 72 - 3.45 oz. per ase. Ship Lot: 300	Tyson (024569-0821)	400,000								\$0.00	#DIV/0!	#DIV/0!			
1694 SER\	RVINGS	Tortilla, Chicken & Chili Filled, Fully Cooked - Trozen - CN label required. Each serving to provide 1 oz. meat/meat alternative and 1 oz grain squivalent. Approximate Pack 72 - 3.45 oz. per ase.  Ship Lot: 300	Tyson (024569-0821)	400,000	Tyson	Payment Terms Net 30 Days	State Fair	10245690821	72 / 3.45 oz.	72	\$0.53	\$38.28	5,556	\$212,666.67	Please Note: The Total listed in Column K is the Estimated Servings per Case	2 Weeks	AWARD
1694 SER\	RVINGS	Tortilla, Chicken & Chili Filled, Fully Cooked - Frozen - CN láste reguled. Each serving to provide 1 oz. meat/meat alternative and 1 oz grain quivalent. Approximate Pack 72 - 3.45 oz. per ase. Ship Lot: 300	Tyson (024569-0821)	400,000	SYSCO MEMPHIS, LLC	NET 14DAYS	TYSON-ST FAIR	024569-0821	72/3.450Z	72	\$0.65	\$46.80	5,556	\$260,000.00		3 WEEKS	
1879 SERV	RVINGS 1	Soup, Baked Potato, Frozen - In 8 (4lb boil in pages. Contains potatoes and turkey bacon. Must meet 1 oz. meat/meat alternate and 1/2 cup regetable per serving. CN label or product ormulation sheet required. Ship Lot: 400	MMI Culinary CN80006	200,000								\$0.00	#DIV/0!	#DIV/0!			
1879 SER\	RVINGS	Soup, Baked Potato, Frozen - In 8 /4lb boil in ags. Contains potatoes and turkey bacon. Must meet 1 oz. medimeat alternate and 1/2 cup vegetable per serving. CN label or product formulation sheet required.		200,000		Small Quantity. Please order entire quantity to reduce shipping costs.	Vendisco	CN80006	8/4lb bags	102	\$0.88	\$90.11	1,953	\$176,000.00	Case Price = \$89.19 Required Cases = 1,954 Extended Total = \$174,277.26	3-4 weeks	Sample Test Not Approved (Sample not approved at 75%) Results revealed that product was watered down and bland tasting.
1929 SER\	RVINGS	Boef, Philly Steak - Frozen, fully cocked seasoned beef. Serving size to meet 2 oz. m/ma or the Chief Nutrition Program. ON label or Product Formulation Sheet required. Packed approximately 192 servings per case.	Advance-Pierre 10000097870	300,000				6 of 18				\$0.00	#DIV/0!	#DIV/0!			

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.			ALL SHIP LOTS ARE IN CASES.												
1929	SERVINGS	Beef, Philly Steak - Frozen, fully cooked seasoned beef. Serving size to meet 2 oz. m/ma for the Child Nutrition Program. CN label or Product Formulation Sheet regulard. Packed approximately 192 servings per case. Ship Lot: 400	Advance-Pierre 10000097870	300,000	Tyson	Payment Terms Net 30 Days	AdvancePierre	10000097870	192 / 2.5 oz.	192	\$1.02	\$196.59	1,563	\$307,170.00	Please Note: The Total listed in Column K is the Estimated Servings per Case	2 Weeks	AWARD
1929	SERVINGS	Beef, Philly Steak - Frozen, fully cooked seasoned beef. Serving size to meet 2 cz., m/ma for the Child Nutribine Program. Or libed or Product Formulation Sheet required. Packed approximately 192 servings per case. Ship Lot: 400	Advance-Pierre 10000097870	300,000	SYSCO MEMPHIS, LLC	NET 14DAYS	TYSON- ADVANCE	97870	1/30#- 192/2.5oz	192	\$1.14	\$218.88	1,563	\$342,000.00		3 WEEKS	
2002		Personal Pizza, 5" Turkey Pepperoni WG - Round Pepperoni pizza with whole grain 5' crust. Made with turkey pepperoni, savory marinara sauce and mozzarella cheese. Pizza individually packaged in an ovenable box. Pizza meds 2 oz. meat/meat alternate and 2 oz. grain equivalents for the Child Nutrifion Program. Please provide a Product Formulation Sheet or crediting statment. Packed approximately 40/cs - 5.38 oz servings /case.  Ship Lot: 600		400,000								\$0.00	#DIV/0!	#DIV/0!			
2002	SERVINGS	Personal Pizza, 5" Turkey Pepperoni WG - Round Pepperoni pizza with whole grain 5" crust. Made with turkey pepperoni, savory marinara sauce and mozzarella cheese. Pizza individually packaged in an ovenable box. Pizza meds 2 oz. meat/meat alternate and 2 oz. grain equivalents for the Child Nutrilon Program. Please provide a Product Formulation Sheet or crediting statment. Packed approximately 40/cs - 5.38 oz servings /case. Ship Lot: 600	Nardone's 40WRMTP3	400,000	Nardone Bros	1%, Net 10	Nardone Bros.	40WRMTP3	40	40	\$1.06	\$42.43	10,000	\$424,300.00		7-10 business days	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Cases (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.		Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.													
1229	CASE	Pasta, WG Spaghetti, Precooked - WG spaghetti pasta, short cut, frozen in bags. Precooked. Not to require boiling water to prepare. May be served hot or cold. Approximately (116) 1/2 cup servings per case. Serving to meet 1 grain equivalent for the child nutrition program.  Ship Lot: 500	No Approved Brand	4,000	Marzetti	2/10 Net 30	Marzetti	4130831002	20# Bulk	116	\$0.36	\$41.25	4,000	\$164,998.40	60cs/pallet	10 Business Days	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Cases (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ARE IN CASES.												
1492	POLIND	Peppers and Onions - Frozen, sliced blend of flame roasted red and green bell peppers, and onions.Approximate Pack 6/2.5 lb. pkgs./case.	Simplot 10071179020240	105,000								\$0.00	#DIV/0!	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	CURRENT AWARDS. ALL PACK	approved equal (1) as long as it meets the bid specification and (2) tested and approved	ALL SHIP LOTS ARE IN CASES.												
1049	SERVINGS	Cerea, Chocolate Flavored Puff Grain Individual cup pack Chocolate Flavored cereal made with whole grain corn. Must meet 2 or, grain equivalent for the Child Nutrition Program. Product to meet the Smart Snack requirements. No more than 6 grams of sugar part 1 oz. serving to meet the CACFP guidelines. CN label or crediting statement required.  Ship Lot: 400	General Milis	300,000								\$0.00	#DIV/0!	#DIV/0!			
1049	SERVINGS	Cereal, Chocotate Flavored Puff Grain Individual cup pack Chocotate Flavored cereal made with whole grain corn. Must meet 2 oz. grain equivalent for the Child Nutrition Program. Product to meet the Smart Snack requirements. No more than 6 grams of sugar par 1 oz. serving to meet the CACFP guidelines. CN label or crediting statement required. Ship Lot: 400	General Mills	300,000	SYSCO MEMPHIS,LLC	NET 14DAYS	GM	14885	60/2OZ	60	\$0.58	\$34.80	5000	\$174,000.00		3 WEEKS	AWARD
1100	SERVINGS	WG Animal Crackers, Berry Flavored - Animal shaped with a sweet and tart berry flavor. Must be a least 50% whole grain made with whole wheat flour. Individually wrapped. Meets 1cz_grain equivalent for Chilli Nutrition Porgram. Must meet guidelines for CACFP program. Approximate Pack: 08/90z. per case.  Ship Lot: 200	Appleways 72400	125,000								\$0.00	#DIV/0!	#DIV/0!			
1100	SERVINGS	Animal shaped with a sweet and tart berry liter. Must be at least 50% whole grain made with whole wheat flour. Individually wrapped. Meets 1 oz. grain equivant for Child Nutrition Porgram. Must equivalent for Child Nutrition Porgram. Approximate Pack: 08/90z. per case.  Ship Lot: 200		125,000	CHURCHFIELD TRADING	NET 30	APPLEWAYS	72400	108/9OZ	108	\$0.27	\$28.91	1157.407407	\$33,460.63	432 CS MIN CAN COMBINE WITH LINE # 1567	2 WEEKS	AWARD
1100	SERVINGS	WG Animal Crackers, Berry Flavored - Animal shaped with a sweet and tart berry flavor. Must be ideast 50% whole grain made with whole wheat flour. Individually wrapped. Meets 1 oz. grain equivalent for Child Nutrition Program. Approximate Pack: 08/90z. per case. Ship Lot: 200		125,000	SYSCO MEMPHIS, LLC	NET 14DAYS	APPLEWAYS- DARLINGTON	72400	108/.9OZ	108	\$0.31	\$33.48	1157.407407	\$38,750.00		4 WEEKS	
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkg, 1oz Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	House Blend 70804	200,000								\$0.00	#DIV/0!	#DIV/0!			
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, individual Portion control Ptg. Toz - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Hidden Valley Ranch 13356 House Blend 70804	200,000	Epallet, Inc.	2% 10 Net 30	Flavor Fresh	77008 (Prior #70804)	1 oz.	100	\$0.17	\$17.00	2000	\$34,000.00	Order min. is 2 pallets (306 cases total) for this item. Can order mixed pallets of Flavor Fresh products combined.	5	

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkg, Toz Trans fat I free. Must be shelf stable. Packed 100/case.  Ship Lot: 200	Hidden Valley Ranch 13356 House Blend 70804	200,000	DYMA BRANDS, INC.	1% 10 DAYS	FLAVOR FRESH	08 (PRIOR ITEM # 708	1 OZ	100	\$0.12	\$12.38	2000	\$24,760.00	PRODUCT UNDERWENT PACKAGING & BRAND NAME CHANGE. HOUSE BLEND ITALIAN DRESSING IS NOW UNDER CUR FLAVOR FRESH BRAND. FDA REQUIRES A NEW ITEM # ASSIGNMENT WHEN BRAND IS CHANGED. NEW ITEM # 18 77008. 5000# MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3	AWARD (Yes, new samples were submitted, listed as number 21 in Bid Language)
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkq, Ioz Trans fat free. Must be shelf stable. Packed 100/case.  Ship Lot: 200	ilidden Valley Ranch 13356 House Blend 70804	200,000	SYSCO MEMPHIS, LLC	NET 14DAYS	WINLAND- Naturally fresh	85116475061	100/1oz	100	\$0.16	\$16.00	2000	\$32,000.00		4 weeks	
1213	SERVINGS	Mayonnaise, Light or Reduced Calorie, individual Packets - 9-12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500	Duke's 06346	600,000								\$0.00	#DIV/0!	#DIV/0!			
1213	SERVINGS	Individual Packets - 9 - 12 gram package. Approximate Pack: 200 servings/case.  Ship Lot: 500	Duke's 06346	600,000	CHURCHFIELD TRADING	NET 30	DUKES	6346	200/12gram	200	\$0.10	\$19.36	3000	\$58,080.00		2 week	AWARD
1213	SERVINGS	Mayonnaise, Light or Reduced Calorie, Individual Packter. 9-12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500	Duke's 06346	600,000	DYMA BRANDS, INC.	1% 10 DAYS	FLAVOR FRESH	78011	12 G	200	\$0.07	\$14.38	3000	\$43,140.00	5000# MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3	NO SAMPLE SENT
1224	SERVINGS	Chill Lime Seasoning - Reduced Sodium- with chili peppers, lime, and sea sait, Individual packets, if gram. Approximately 1000 per case. Serving size = 1 packet.  Ship Lot: 200	Fajin 28805	1,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1225	SERVINGS	Chamoy Hot Sauce - Fruity - Must contain chili peppers, lime, sea salt, and fruit flavor. Must be djutten free and no artificial colors or flavors. Individual packets, 27oz. Approximately 500 per case. Serving size = 1 packet.  Ship Lot: 200	Fajin 4810212	1,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1303	SERVINGS	Taco Sauce, Mild- Made with tomato sauce, spices, and vinegar. Peppers may be listed as ingredient but not required. 1/3 ounce, 200 packages per case.  Ship Lot: 500	Del Pasado 273025 Del Pasado 271876	250,000								\$0.00	#DIV/0!	#DIV/0!			

				Estimated Number of						Estimated			Required				
Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1303	SERVINGS	Taco Sauce, Mild-Made with tomato sauce, spices, and vinegar. Peppers may be listed as ingredient but not required. 1/3 cunce, 200 packages per case.  Ship Lot: 500	Del Pasado 273025 Del Pasado 271876	250,000	DYMA BRANDS, INC.	1% 10 DAYS	FLAVOR FRESH	76028	9 G	200	\$0.04	\$8.11	1250	\$10,137.50	5000# MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3	NO SAMPLE SENT NO AWARD
1387	SERVINGS	Sunflower Kernels, Honey Roasted - foz package, honey roasted kernels to meet 1cc mead/meat afferate for the Child Nutrition Program. Must have less than 230mg sodium per package. Approximate pack size 150 per case.  Ship Lot: 200	Dakota 1017310 Kars 8130	200,000								\$0.00	#DIV/0!	#DIV/0!			
1387	SERVINGS	Sunflower Kernels, Honey Roasted-1 oz package, honey roasted kernels to meet foz meed/meet alternale for the Child Autition Program. Must have less than 230mg sodium per package. Approximate pack size 150 per case.	Dakota 1017310 Kars 8130	200,000	National Food Group/ Zee Zees	Net 30	Zee Zees	C88090	250/ 1.2 oz	250	\$0.29	\$72.00	800	\$57,600.00	We adjusted our packaging on this Item, we have C in the front of the code vs the B on the spec. It is the same Item just an updated packaging.	3 weeks	Same product, just different packaging and the product code changed.
1387	SERVINGS	Sunflower Kernels, Honey Roasted - toz package, honey rosset kernels to meet 10z meat/ment atternate for the Child Nutrition Program. Must have less than 20gm sodium per package. Approximate pack size 150 per case.  Ship Lot: 200	Dakota 1017310 Kars 8130	200,000	SYSCO MEMPHIS, LLC	NET 14DAYS	SUNRICH	1231780	150/1.2OZ	150	\$0.27	\$40.50	1333.333333	\$54,000.00		4 WEEKS	AWARD
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, pickde flavor. Ready to use. 9 g package. Approximate pack size: 200 per case.  Ship Lot: 200	Flavor Fresh 76047	250,000								\$0.00	#DIV/0!	#DIV/0!			
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, picked flavor. Ready to use. 9 g package. Approximate pack size: 200 per case.  Ship Lot: 200	Flavor Fresh 76047	250,000	Epallet, Inc.	2% 10 Net 30	Flavor Fresh	76047	9 grams	200	\$0.08	\$16.00	1250	\$20,000.00	Order min. is 2 pallets (560 cases total) for this item. Can order mixed pallets of Flavor Fresh products combined.	5	
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, picked flavor. Ready to use. 9 g package. Approximate pack size: 200 per case.  Ship Lot: 200	Flavor Fresh 76047	250,000	DYMA BRANDS, INC.	1% 10 DAYS	FLAVOR FRESH	76047	12 G	200	\$0.06	\$12.13	1250	\$15,162.50	5000# MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3	AWARD
1400	SERVINGS	Tortilla Flour, Street-style- Each tortilla must be 4.5° in diameter and meet a minimum of 1 oz. grian equivalents per child nurbtion program standards. CN label or grain crediting statement required. Approximate pack 6/24 count per case.  Ship Lot: 300	Del Pasado 597011	300,000								\$0.00	#DIV/0!	#DIV/0!			
1400	SERVINGS	Tortilla Flour, Street-style- Each tortilla must be 4.5° in diameter and meet a minimum of 1 oz. grain equivalents per child runtribon program standards. CN label or grain crediting statement required. Approximate pack 6/24 count per case.  Ship Lot: 300	Del Pasado 597011	300,000	SYSCO MEMPHIS, LLC	NET 14DAYS	OLE MEXICAN	128	16/20CT	320	\$0.07	\$22.59	937.5	\$21,180.00		4 WEEKS	NO AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2 SERVINGS	Column 3  Popcorn, Butter Flavored - Reduced fat, popped, butter Flavored popcorn. Must meet a minimum of 1oz. Product must meet smart snack guidelines for school nutrition programs. Packed 96/case. If packed differently, please indicate.  Ship Lot: 50	Column 4 No Approved Brands	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13 \$0.00	#DIV/0!	#DIV/0!	Column 16	Column 17	Column 18
1567	SERVINGS	Snack Crackers, Vegetable - 1-1.5oz all- natural vegetable flavored wheat snack cracker. To meet a minimum of 1oz grain serving for the child nutrition program. Approximate pack: 108/1.2oz servings per case. Ship Lot: 100		200,000								\$0.00	#DIV/0!	#DIV/0!			
1567	SERVINGS	Snack Crackers, Vegetable - 1-1.5oz all- natural vegetable flavored wheat snack cracker. To meet a minimum of foz grain serving for the child nutrition program. Approximate pack: 108/1.2oz servings per case. Ship Lot: 100	Darlington 76300	200,000	CHURCHFIELD TRADING	NET 30	DARLINGTON	76300	108/1.2OZ	108	\$0.27	\$28.91	1851.851852	\$53,537.00	432 CS MIN CAN COMBINE WITH LINE # 1100	2 WEEKS	AWARD
1567	SERVINGS	Snack Crackers, Vegetable - 1-1.5oz all- natural vegetable flavored wheat snach cracker. To meet a minimum of 1oz grain serving for the child nutrition program. Approximate pack: 108/1.2oz servings per case. Ship Lot: 100	Darlington 76300	200,000	SYSCO MEMPHIS,LLC	NET 14DAYS	Appleway- DARLINGTON	76301	108/1 oz	108	\$0.31	\$33.48	1851.851852	\$62,000.00		4 WEEKS	
1571	SERVINGS	Tortilla, Flour, WG - Each tortilla must be a 12" diameter and meet a minimum of 2oz whole grain equivalents per child nutrition program standards. CN label or grain crediting statement required. Approximate pack 72 count per case.  Ship Lot: 100	Ole Mexican - 27326	80,000								\$0.00	#DIV/0!	#DIV/0!			
1571	SERVINGS	Tortilla, Flour, WG - Each tortilla must be a 12" diameter and meet a minimum of 2ez whole grain equivalents per child nutrition program standards. CN label or grain crediting statement required. Approximate pack 72 count per case. Ship Lot: 100	Ole Mexican - 27326	80,000	SYSCO MEMPHSI, LLC	NET 14DAYS	OLE MEXICAN	27326	6/12CT	72	\$0.49	\$35.28	1111.111111	\$39,200.00		4WEEKS	AWARD
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case.  Ship Lot: 400	DYMA 70809 Ken's SJ0440A1 Ken's KE0784A1	550,000								\$0.00	#DIV/0!	#DIV/0!			
1654	SERVINGS	Ship Lot: 400	Ken's S.J0440A1 Ken's KE0784A1	550,000	Epailet, Inc.	2% 10 Net 30	Flavor Fresh	77002 (Prior #70809)	1 oz.	100	\$0.18	\$18.00	5500	\$99,000.00	Order min. is 2 pallets (306 cases total) for this item. Can order mixed pallets of Flavor Fresh products combined.	5	
1654	SERVINGS	Sauce, Barthecue, Dipping - Individual cups with peel off id, approximate step 1.0 oz.1.5 oz. Approximate pack 100 units/case.  Ship Lot: 400	DYMA 70809 Ken's SJ0440A1 Ken's KE0784A1	550,000	DYMA BRANDS, INC.	1% 10 DAYS	FLAVOR FRESH	77002 (PRIOR ITEM# 70809)	10Z	100	\$0.13	\$13.29	5500	\$73,095.00	PRODUCT UNDERWENT PACKAGING & BRAND NAME CHANGE. HOUSE BLEND BBQ SAUCE IS NOW UNDER DUR FLAVOR FRESH BRAND. FOA BEQUIRES A NEW ITEM # ASSIGNMENT WHEN BRAND IS CHANGED. NEW ITEM # IS 7702. 5009 MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1654	SEDVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off it, approximate size 1.0 oz. 1.5 oz. Approximate pack 1.00 units/case.  Ship Lot: 400	DYMA 70809 Ken'sS.0440A1 Ken's KE0784A1	550,000	SYSCO MEMPHIS,LLC	NET 14 DAYS	KENS	SJ0440A1	100/1.25OZ	100	\$0.22	\$22.00	5500	\$121,000.00		3 WEEKS	

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Cases (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER ( IN WEEKS)	AWARD
Column 1	Column 2	Column 3  Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5  Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1111	CASE		Bay Valley 127/12822891393 Cajun Chef Heinz 5218904	1,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1160	CASE		Robbins Sales Co., Inc. (19211-55020) Dole (100-38900-0422-3)	2,000								\$0.00	#DIV/0!	#DIV/0!			
1160	CASE	Mandarin Oranges, Whole Sections, Canned - Packed to U.S. Grade A standards. Whole orange sections packed in 100% juice. Serving size equals 1/2 cup. Minimum Drained Weight: 56 oz. Packed: 6 #10 cans/case. Ship Lot: 456	Robbins Sales Co., Inc. (19211-55020) Dole (100-38900-0422-3)	2,000	Robbins Sales Co. Inc.	Net 30	Robbins Sales Co. Inc/Port Royal Premium 19211-55020	19211-55020	6/#10	150	\$0.23	\$34.50	2,000	\$69,000.00	\$34.50/Cs.	21 Days	AWARD
1160	CASE	Mandarin Oranges, Whole Sections, Canned - Packed to U.S. Grade A standards. Whole orange sections packed in 100% juice. Serving size equals 1/2 cup. Minimum Drained Weight: 56 oz. Packed: 6 #10 cans/case. Ship Lot: 456	Robbins Sales Co., Inc. (19211-55020) Dole (100-38900-0422-3)	2,000	SYSCO MEMPHIS, LLC	NET 14DAYS	DOLE-	4222	6/106OZ	150	\$0.45	\$67.50	2,000	\$135,000.00		4 WEEKS	
1181	CASE	Seasonings added with no MSG. Contains no trans fat. May be in a resealable jar/jug or in single use packets. Please indicate packaging.  Ship Lot: 300	Chef's Companion 57774	1,300								\$0.00	#DIV/0!	#DIV/0!			
1181	CASE	Gravy Mix Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains no trans fat. May be in a resealable jar/jug or in single use packets. Please indicate packaging.  Ship Lot: 300	Sysco Imperial 92175 Chef's Companion 57774	1,300	Epallet, Inc.	2% 10 Net 30	Chef's Companion	57774	14 oz.	1	\$29.51	\$29.51	1,300	\$38,363.00	Order min. is 2 pallets (180 cases total) for this item. Can order mixed pallets of Chef's Companion products combined.	5 weeks	
1181	CASE	Gravy Mix - Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains no trans fat. May be in a resealable jar/jug or in single use packets. Please indicate packaging.  Ship Lot: 300	Sysco Imperial 92175 Chef's Companion 57774	1,300	DYMA BRANDS, INC.	1% 10 DAYS	CHEF'S COMPANION	57774	8/14Z BAGS	512	\$0.04	\$22.94	1,300	\$29,822.00	5000# MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	\$3.00	AWARD

	itock Approved Br			Estimated Number of						Estimated			Required				
Stock Number	Unit	Description	(Manufacturer Product Code)	Cases (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER ( IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1181		Gravy Mix - Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains no trans fat. May be in a resealable jarrjug or in single use packets. Please indicate packaging.  Ship Lot: 300	Chef's Companion 57774	1,300	SYSCO MEMPHIS, LLC	NET 14DAYS	NESTLE- TRIO	385727	8/16 OZ	512	\$0.08	\$40.96	1,300	\$53,248.00		3 WEEKS	
1207	07102	Teriyaki Glaze – Lower sodium Teriyaki Glaze made with soy sauce, sugar, and additional shain flavorings. Pre thickened, ready to use. Resealable cap.  Ship Lot: 200	Kikkoman 01657	900								\$0.00	#DIV/0!	#DIV/0!			
1207		Teriyaki Glaze – Lower sodium Teriyaki Glaze made with soy sauce, sugar, and additional sain flavorings. Pre thickened, ready to use. Resealable cap.  Ship Lot: 200	Kikkoman 01657	900	SYSCO MEMPHIS, LLC	NET 14DAYS	KIKKOMAN	1657	6/5#6oz	516	\$0.11	\$56.76	900	\$51,084.00		4 weeks	AWARD
1211	CASE	Mayonnaise - Lite reduced calorie. Should contain no more than 30% of calories from fat, no trans fat. 1 gallon jar with a resealable cap. Approximate Pack: 4/1 gallon per case Ship Lot: 200	Duke's 06073 Ventura 72040 American Harvest 155 Monarch 192134 Sysco 4002432	800								\$0.00	#DIV/0!	#DIV/0!			
1211		Mayonnaise - Lite reduced calorie. Should contain no more than 30% of calories from fat, no trans fat. 1 gallon jar with a resealable cap. Approximate Pack: 4/1 gallon per case	Duke's 06073 Ventura 72040 American Harvest 155 Monarch 192134 Sysco 4002432	800	CHURCHFIELD TRADING	NET 30	DUKES	6073	4/1 GAL	1,024	\$0.05	\$54.17	800	\$43,335.68		2 WEEKS	AWARD
		Ship Lot: 200															
1276	CASE	Oil, Vegetable, Blend - Vegetable oil for frying, baking and salads. Should be trans fat free (0 grams trans fat), no BHT Approximate Pack: 6/1 gallon/case. Ship Lot: 100		400								\$0.00	#DIV/0!	#DIV/0!			NO BID
1377	CASE	Vinegar - 1 gallon plastic jugs, distilled, white, 4- 5% acetic acid. Ship Lot: 100	SYSCO MEMPHIS LLC (911123) Packer 4713475 Kaiser # 08371 Garden Club #608054100	500								\$0.00	#DIV/0!	#DIV/0!			NO BID
1381	CASE	Sugar, Granulated - Pure white sugar in granulated crystals. Approximate Pack: 25 lb bag. Ship Lot: 100	Diamond Crystal 29804 Domino 403305 Dixie Crystal 35600 Domino 4046320 Sysco 5087572	300								\$0.00	#DIV/0!	#DIV/0!			NO BID
1385	CASE	Brown Sugar- Light, pure cane. Approximate Pack: 12/2# pound boxes Ship Lot: 200	Diamond Crystal (33126)(29807) Domino 401358 Michigan Sugar 555624	800								\$0.00	#DIV/0!	#DIV/0!			NO BID
1652	CASE	Sugar, Granulated, Individual Packet - Individual serving packet of granulated sugar. Approximately 2g serving packet. Approximate pack size: 500/case. Ship Lot: 200	No Approved Brands	600								\$0.00	#DIV/0!	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Cases (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER ( IN WEEKS)	AWARD
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1917	CASE	Cheese Sauce, White, Jalapeno Heat and Serve – Made with cheese, diced jalapeno peppers and spices. Each serving equals 1 oz. Please provide crediting if applicable. Approx. pack 6/5lb pouches or 6 #10 cans per case.	No Approved Brands	1,500								\$0.00	#DIV/0!	#DIV/0!			
1917	CASE	Cheese Sauce, White, Jalapeno Heat and Serve – Made with cheese, diced jalapeno peppers and spices. Each serving equals 1 oz. Please provide crediting if applicable. Approx. pack 6/ 5lb pouches or 6 #10 cans per case.  Ship Lot: 500	No Approved Brands	1,500	SYSCO MEMPHIS, LLC	NET 14DAYS	NESTLE-CHEFMATE	50000477760USL	6/106OZ	288	\$0.39	\$112.32	1,500	\$168,480.00		4 WEEKS	AWARD
1921	CASE	Sauce, Alfredo - Alfredo Sauce made with pasturized milk and a blend of cheddar cheese, parmesan and romano cheeses. May be canned or shelf stable pouch with no more than 450 mg of sodium per serving. Serving size of Alfredo Sauce to equal 1/4 cup. Please provide crediting if applicable.  Ship Lot: 500	No Approved Brands	2,000								\$0.00	#DIV/0!	#DIV/0!			
1921	CASE	Sauce, Alfredo - Alfredo Sauce made with pasturized milk and a blend of cheddar cheese, parmesan and romano cheeses. May be canned or shelf stable pouch with no more than 450 mg of sodium per serving. Serving size of Alfredo Sauce to equal 1/4 cup. Please provide crediting if applicable.  Ship Lot: 500	No Approved Brands	2,000	Epallet, Inc.	No Bid	Chef's Companion	57463	16 oz.	1	\$56.06	\$56.06	2,000	\$112,120.00	Order min. is 2 pallets (198 cases total) for this item. Can order mixed pallets of Chef's Companion products combined.	5 weeks	
1921	CASE	Sauce, Alfredo - Alfredo Sauce made with pasturized milk and a blend of cheddar cheese, parmesan and romano cheeses. May be canned or shelf stable pouch with no more than 450 mg of sodium per serving. Serving size of Alfredo Sauce to equal 1/4 cup. Please provide crediting if applicable.  Ship Lot: 500	No Approved Brands	2,000	DYMA BRANDS, INC.	1% 10 DAYS	CHEF'S COMPANION	57463	8/16Z BAGS	312	\$0.15	\$46.39	2,000	\$92,780.00	5000# MINIMUM FOR SHIPMENT BASED ON GROSS CASE WEIGHT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM REQUIREMENTS. PALLETS MAY BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	\$3.00	AWARD
1921	CASE	Sauce, Alfredo - Alfredo Sauce made with pasturized milk and a blend of cheddar cheese, parmesan and romano cheeses. May be canned or shelf stable pouch with no more than 450 mg of sodium per serving. Serving size of Alfredo Sauce to equal 1/4 cup. Please provide crediting if applicable.  Ship Lot: 500	No Approved Brands	2,000	SYSCO MEMPHIS, LLC	NET 14DAYS	NESTLE-TRIO	385024	8/16OZ	304	\$0.31	\$94.24	2,000	\$188,480.00		4 WEEKS	

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2023-2024)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost		ORDER (IN WEEKS)	AWARD
Column 1		Column 3  Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5  Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6  ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1317	SERVINGS	Hummus, Roasted Red Peppers with Pretzels Mixture of hummus, cooked chickpeas, tahin, red belle pepper, galric, and salt. Each serving to equal a minimum of 1.5 oz meat/meat alternate and 1.5 oz. grain equivalents per the child nutrition guidelines. Serving size must meet a minimum of 4.56 oz. Please provide CN label or product formulation sheet for crediting. Please indicate servings per case. SHIP LOT: 200	SABRA 01196	75,000								\$0.00	#DIV/0!	#DIV/0!			NO BID
1817	SERVINGS	Cheese, Sliced, Pepperjack - Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 4-5 pound blocks. Packed 960 1/2 oz. slices/case. Serving = 1 slice.  SHIP LOT: 200	BONGARDS 114441	150,000								\$0.00	#DIV/0!	#DIV/0!			NO BID